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. . s JTEERLE | NER 1BDE
BELE FEAK RHBE s =% =t
NEE NN REEE BNE RENE ayas || Car ane HAY|SORGH SER
mECDH (Da e 5 a0 2+3 =ares | I=8s
=55 E[ER=E ]
q"* 589 36 4 16 %8 x 1470 | 1,231 1,445 4,146 | 124,380 | 4E% [
14. 0%
=55 EIER=E ]
;"x 659 36 4 16 %8 x 1,630 | 1,231 1,445 4,306 | 129,180 | 4 EX[
14. 0%
=45 E[ER=E ]
g"* 732 36 4 16 %8 x 1,796 | 1231 1,445 4,472 | 134,160 | 4 EX[&
14. 0%
=45 E[ER=E ]
2"* 802 36 4 16 %8 x 1,956 | 1,231 1,445 4,632 | 138,960 | 4 EX[
14. 0%
=45 E[ER=E ]
g"* 871 36 4 16 A x 2114 | 1,231 1,445 4790 | 143,700 | AE%[E
14. 0%
(I)ZBKRE AR (2&1818)
. - s JTERLE | NER 1BDE
BELE FEAK RHBE s =% =t
NEE NEH REEE BNE RENE ayas || tar ane HAY|SORGH SER
mECDH (Dp e 5 ) 2+3 =ares | I=Es
=45 EER=E ]
q"* 589 36 4 16 48 x 1,470 | 915 1,445 3,830 | 114,900 | 4 B[
14. 0%
=55 EIER=E ]
;"x 659 36 4 16 %8 x 1,630 | 915 1,445 3,990 | 119,700 | 4 B[
14. 0%
=45 EER=E ]
g"* 732 36 4 16 %8 x 1,796 | 915 1,445 4,156 | 124,680 | 4 E&f&
14. 0%
=55 E[ER=E ]
2"* 802 36 4 16 %8 x 1956 | 915 1,445 4,316 | 129,480 | 4E% [
14. 0%
=45 E[ER=E ]
g"* 871 36 4 16 #Bx | 2114 | 915 1,445 4474 | 134,220 | 4 %P
14. 0%
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